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QUESTION 1

A network engineer has just deployed a non-Cisco device in the network and wants to get information about it from a
connected device. Cisco Discovery Protocol is not supported, so the open standard protocol must be configured. Which
protocol does the network engineer configure on both devices to accomplish this? 

A. IRDP 

B. LLDP 

C. NDP 

D. LLTD 

Correct Answer: B 

 

QUESTION 2

Which protocol will enable a group of routers to form a single virtual router and will use the real IP address of a router as
the gateway address? 

A. Proxy ARP 

B. HSRP 

C. IRDP 

D. VRRP 

E. GLBP 

Correct Answer: D 

 

QUESTION 3

A network administrator configures 10 extended VLANs ranging from VLANs 3051 to 3060 in an enterprise network.
Which version of VTP supports these extended VLANs? 

A. version 1 

B. version 2 

C. version 3 

D. VTP does not recognize extended VLANs. 

Correct Answer: C 

 

 

642-813 VCE Dumps | 642-813 Study Guide | 642-813 Exam Questions                                2 / 4

https://www.geekcert.com/642-813.html
https://www.geekcert.com/642-813.html
https://www.geekcert.com/642-813.html


https://www.geekcert.com/642-813.html
2021 Latest geekcert 642-813 PDF and VCE dumps Download

QUESTION 4

An administrator recently configured all ports for rapid transition using PortFast. After testing, it has been determined
that several ports are not transitioning as they should. What is the reason for this? 

A. RSTP has been enabled per interface and not globally. 

B. The STP root bridge selection is forcing key ports to remain in non-rapid transitioning mode. 

C. STP is unable to achieve rapid transition for trunk links. 

D. The switch does not have the processing power to ensure rapid transition for all ports. 

Correct Answer: C 

 

QUESTION 5

How does VTP pruning enhance network bandwidth? 

A. by restricting unicast traffic across VTP domains 

B. by reducing unnecessary flooding of traffic to inactive VLANs 

C. by limiting the spreading of VLAN information 

D. by disabling periodic VTP updates 

Correct Answer: B 
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